OCTOBER 2012 U/ID 31601/UCHA

Time : Three hours Maximum : 100 marks

PART A — (40 x 1 = 40 marks)
Answer ALL questions.

All questions carry equal marks.

1.  Which of the following are considered to be the primary rocks?
(a) Sedimentary rock (b) Metamorphic rock (c) Igneous rock
(d) Argillaceous rock
&G Qar(hEsiulLeeusafled 6Tg (PSD eUams LITanD?
(<) ugeyls urenn (=) e wrdwu urep (@) SLiurep () Sarflwebr
Lmenm

2. What does the term sial refer to

(a) Earth surface layer (b) Core of the earth (¢) Ocean Bottom
rock (d) Rock which is rich in Iron

Swimed ergeman GHEHmG)
(=1) yall Cod @ (<) yeluler epwpwils LGS (@) sLelg LT
(FF) @O STE FSLD 2 6TeT Limenn

3. Which of the following is a result of the tectonic forces
(a) Fissure volcano (b) Ash cone (c) Rift valley (d) Caldera
2(Pss ellanguliented gFHLIBHID HlgsCsTHmid
(=) Gerey erflibene (=) &mbue® &by (@) Gemey UeTaTsTE®S
(rr) erfleney 6rifl

4.  The Garban is a

(a) Down folded area (b) An up-folded area (c) An up — faulted
area (d) A down faulted area

SMTLGT eTaTlL (Heug)
(=) &1 wps LLL UGEH () Cwd ameans LESH (§) Cod
Crrésdlw Gerey LG () S Crrsdlw Y9ere] LGS

5.  One of the following featues produced by compressional forces is

(a) Rift valley (b) A horst (c) A reverse fault (d) Normal fault
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11.

£|E'Q Qam@ésuul L Bl 2 meusdd @em o(Wss elasulearme
Camemmlwig

(=) Qemey wetarsTah@ (<)) Wawr e (§) sy ey
() Quiddby ey

Epirogency is a result of

(a) Vertical earth movement (b) Horizontal earth movement
(c) Great depth in the earth (d) Mass movement

ST Y,&EHLD <, Caremmidmgl

(=) Qemi@sg el paia) (<) Gerwrear Lell paie (§) Yeilulwid
0l& psdle (FF) umuGlummer ojenae]

Limestone is an example of

(a) Sedimentary rock (b) Metamorphic rock (¢) Igneous rock
(d) Volcanic rock

FETGTITLOL| SO &G 2 STIauTLD

(=) uigey umenm (<) e rdlu uten (§) Sliurern () erflwene
LImenm

Which earth quake wave involves transverse displacement?

(a) P Waves (b) S Waves (c) L Waves (d) All of them

T Lellwdliey Sieme GmsaE e (H QL rHnSEIL 6 QT wig
(=) P oiower (<) S oiwe (@) L iewew () eréveumid

What is the major cause of mass movement?

(a) Stream flow (b) Gravity movement (c) Weathering
(d) Glacial movement

UL QurmeT jangellHamen (P&l STyemTLd
(<=1) BGrmenL (<,) yeil FriTliy g&Hwined paie] (§) Havgey (FF) Lewt
B&TE]

The dust bowl of North America has been caused by

(a) Glacial deposition (b) Wind erosion (¢) Wind deposition
(d) Glacial erosion

auL QwM&sTelley ‘G GaTliLemm’ eTdHLIL STTewTD

(=) weflurdy Lgey (<) smom <flly (Q) <wHm ukgey
(/) ueflwmm oflssa

Small islands are often found in

(a) Mature river valley (b) New glacial valley
(c) underground cave (d) Old glacial valley
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fm Seayser oFsd srauiiui(heug)

(<) it oL LaTaTETES (<) LS vafliurbpil LeTaTssTéE,
(@) Hlovgsly Gans () Lapul Uaiumhm LIeTeTSTé @

The characteristic of a blind valley is that

(a) It has no outlet (b) It is occupied by the forest (c) It has no
stream (d) Concept only

G&(HL() LeTergTédlen LiewrLy

(=) doiy Geuell @eoveve (=) sTHSETTD USTOGSILILL G|
(@) @de BCrmanL ergieyllbane (FF) Qamerens I HGL

Meandering stream represents —————— stages

(a) Initial (b) Youthful (c) rejuvenated (d) Maturity

DO CUMETE Blenavullenen &ml&ES ms)
(=1) U () Gererwowr (@) Lssés () i

Plunge holes are formed by

(a) By glacial erosion (b) By action of underground water
(c) By wind erosion (d) By river erosion

Gemereh el L 2 (HeuTeug)
(@) veflurdpm oflermme (<) Hlossy Bller CQelamsuierme
(@) sropflierme (/) Hm ifliGenme

The sharp edged glacially eroded ridge is called a

(a) Horn (b) Nunatak (c) Arete (d) Col

gl peveryLa@iler  Salgw  ueflurpdlemd  fdsiul L
LEOEHOSTLIT

(<=1) ammiren (<3) Bl@LTS (@) ATLG (F) QOEES

The glacial valley encroached upon by sea is called a
(a) Fiord (b) Ria (c¢) Tarn (d) Drumlin

venflumdmils LeTeTsTESle) SLed 26T HMPHSTD FHUBD HLHEIT
eTem DM P&ESHILI(HS MG

(=) Qi (<) Awm (§) Lrier (/) Liybedler

Which are the source region of the continental glaciers?

(a) High mountain (b) Piedmont plateau (c) Mountain slope
(d) Polar ice cap
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sewrL Liewtlwmmidlen Camhmid erg)?
(=) 2wibs weve (<) Giwmar G gl (§) weaedstey
() simeu Lianfl apiy.

Vertical fault along which the rocks are displaced horizontally is
called a

(a) Normal fault (b) Reverse fault (c) Fear fault (d) Monocline

Qemi@ss Weareller uUTeppEeT &L wrgs @uid  wmmd  Cumg)
T AMPSEHILI(HE )

(=) Queurer ere] (<),) 2msliLy Were] (&) @ s6sM ey
() saflilenerey

The chemical union of a mineral and water is called
(a) Oxidation (b) Carbonation (c) Hydration (d) Hydrolis
B HmIb sre Qunmersaflen @remuear Ceisamade Cuwi

(=) 2l srhm Corsans (<) salwiCaisans (@) B o L Csreripenn
() Briflged
The alluvial fans are formed

(a) In the foothill zone (b) Near the river mouth (c) Plain regain
(d) Along the sea coast

cueiTLe» &Ml 2 (Heum@b @)L Lb

(=) woowugary UGS () POD Ysssumbd () swbeel
rGgaD (FF) SLDEEIT LD

Which type of moraine formed along the sides of the glacial
valley

(a) Ground moraine (b) Terminal moraine (c) Lateral moraine
(d) None

uaflwrpm ussnhiseier Garemmb Glomenyen

(=) sy Corengenger (=) wplyeyGwrearer (&) erdaeGuimy
Qrenrer (FF) eTgia|bldena

Which of the following landform feature is formed by abrasion
action of wind?

(a) Mushroom rock (b) Blowouts (c) hamada (d) Sandbars
arom 2 78 ofligsomd Cararmib HlosCsrmmid
(1) smanmar Lo (<2b) 2 eIz (@) GapibLT (i) oawred SanL
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Normal lapse rate of temperature is

(a)3.2°C/KM (b) 4°C/KM (c) 6.5°CM/KM (d) 5°C/KM

@ueoumear eorliey eNldlsD

(=) 3.2°Qe/H.8 (<) 4°Qs/ Hu (@) 6.5°Qs/  Hu
(rr) 5°Qg/ &.16

Which is the local winds

(a) Polar easterly (b) Westerly winds (¢) Monsoon winds
(d) Mountain and valley winds

CTEl V& HTHM ?

(=) simar &p sthn (<) Cuwd srhy (§) Lmas stHn (F) o
LOHMILD LICTETSTEE STHM)

This heat can’t be measured with the help of thermometer is

(a) Radiation (b) Body temperature (c) Latent heat (d) None
Qgior 8L fAar 2 seflyLer @Qbs GCeuliLblened erds @Quierg

(<=1) sdim aiged (<) 2L Qaliufleave (§) 26 meonbs GeuliLib
(FF) eTgleLD @evanen
Which belt is result of the dynamic control of pressure?

(a) Equatorial low pressure (b) Polar high pressure
(c) Sub tropical high pressure (d) None

THS STHM(PSS T LD (PSS @QuwibLimdmermed Comemmislms

(=) gwsdlu Cras smp siwssd () SO s SNWSsD
(8) 21 SWETDETL 6 AFS (PSS (FF) 6Tgie b @dena

How is tropical monsoon climate denoted in Koppen's system

(a) BS (b) Cf (¢c) Am (d)BW

Camliue UESELILIML Iq 60 au_lmmafm_@é;a;rr@;ﬁ]m@ GG
GMESLLHS DG ?

(=) BS (=) Cf (@) Am () BW

The Instrument for making a constant record of temperature is

(a) Baro graph (b) Hygrograph (¢) Hythergraph
(d) Thermo graph

Qar_rflwrer el fleaneenw Ldle| Clguub &med

(1) urGrm &gl (<) ewanSlCrrdlrml (@) emansi &yl () QsrGom
Sm
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Which layer of atmosphere is vital for telecommunication?

(a) Troposphere (b) Thermosphere (c) Stratosphere
(d) Ionosphere

auaflieanT_cgdler eThs L[H&Gms gmane QST &E, p&Slunrerg)

(=) gruGumevi@ur (<) QaTCurevdur (@) evFlGCrmevGwr
(7)) s1Gwrere Gwir

The corriollis effect is produced by

(a) Pressure gradient (b) Earth revolution (c) Earth rotation
(d) Earth rotation and revolution

Qarflwredev gHU(BSEID alleneTe,]
(=) dautiu sfley (<) yelil spndl () Heil apmFe (/) Yall shmis
HMILD Ledl &LpHs

State the wind condition of doldrums.

(a) Strong south easterlies (b) Variable winds (c) No wind at all
(d) Strong easterlies

LmebL_iblenn smlen Hlened eremen?

(@) veowrar QgnE Sows stom (<) v wrd eis&bd sTH
(@) sTHm ergIe D6 (FF) LILTET SenLpSETDHmISET

The mistral wind experienced in

(a) Caloifornia (b) Japan (c) India (d) Southern france
WlevL_ed STHm 63&LDd BT

(<) seGumiafur (=) gtiurer (@) @bSHwr (FF) Csn @ WrTerev
The eye is a characteristic feature of

(a) Anti - cyclone (b) Temperate Cyclones (c) Tropical Cyclones
(d) Occluded front

SHEHT 2 el w HpliLy LeRTLmELD

(=) erdlré—@Emmeuafl (<) ) Qeuliu @&oreuafl
(@) Slwen e Gpreuafl () 2 arerLmidlw aeflpsbd

Canaries current flows along

(a) Brazlian coast (b) Peruvian coast (¢) East African coast
(d) West African coast

srauriev FETTLLID s (Hdng)

(=) WCrsldlwer sLpseny (<) Qumelwer sLHsmy (&) Hp&EE
U9NEs sL_pasey () Cop@ <Uafés sL_paen

6 U/ID 31601/UCHA



35.

36.

37.

38.

39.

40.

Which ocean has a mid oceanic ridge resembling letter ‘S’

(a) Indian Ocean (b) Atlantic ocean (c) Pacific Ocean
(d) Arctic ocean

o5 HL&T W enesEsTLiT ‘S’ eretmy 6T(PSHenens Hhg)eTerg)?

(<=1) @BHw L6 () Ll onamys sl (@) U&HNS L6 (FF) Mg s
HLE

In which ocean is the mindano deep located?

(a) Pacific (b) Atlantic (c) Indian (d) Arctic

TS HLadle e rCarm s 2 cTerg)?

(<=1) Lads (=) SiLramgs (@) @bSwen (F) piTigd
Kuril Trench is situated in

(a) North Eastern Pacific (b) North Western Pacific
(c) South Western Pacific (d) South Eastern Pacific

&M o5 SjenbgiaTer @L D

(o) e SpsE us9s (<) e CopE usds
(@) Gzen CuoneE us9s (F) Qger &psE usds

The floor configuration of an ocean is shown with help of a

(a) Thermograph (b) Hypsometric curve (c) Seismo graph
(d) Hyther graph

Ths UL gdlan 2 sellLen HLavly HlosGCsrhmssaar oHlued?

(=) Qeuliu euenere| (= )abliGsr Gl Mé euemere) (@) yelwdiey
UL (FF) enamgm Slym

Which tide occur twice every month at new moon and full moon?
(a) Spring tide (b) Neep tide (c) Apogean tide (d) Perigean tide
ThE @FHD Sbwmeueng, Cuerianrdl erenm TGS e @Qrearr(h (Penn
umSng)

(1) 265 @b (<) Hés @sbd (@) ACUTBwen @sid () AuRguer
@5

Cave pillars are formed in the

(a) Glacial region (b) Karst topography (c) Coastal region
(d) Arid region

s glanger CHmemmiLd @)L 1D

(=) ualulyGseb (=),) searanmiby LTy WFGssD (&) sLD Sy
rGgad (/) eupeirL AyGseb
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PART B — (5 x 4 = 20 marks)
Answer any FIVE questions.
Answer should not exceed 200 words each.
Write about the types of fault.
Yereysafler Lo cuanssanaer LIHD 6T(LPGIS.
Describe the Biological weathering.
2 WMwed Hengellenar allers@s.
Briefly discribe the river capture with diagram.
DD SeUTeHlEnaT LILSFIL 60T S(HEHLOTE 66T EHd.
Explain the Heat Budget.
Qeutiu FerUm g enen 69l6TéEs.
Give an account of major types of Airmasses.
auafliL@dludlen (p&EH eUanSEHMET 6T(LpS)s.

Describe the Bottom relief of ocean with the help of Hypsometric
curve.

Fo5) (W2, (AT TR 5 CUENETEY cuen UL S&len EPEVLD HLly
BlagsCasrhmsdenar clars@s.

Write about the different types of coral reefs.

LIGUETLILITEN M &6 6T 6N HSHEMET 6T (LS.

Briefly explain the different types of tides.

LeGeum eSgLomen @FmIGMmET H(HESLLNS afleui.
PART C — (2 x 20 = 40 marks)

Answer any TWO questions.
Write an essay on the landforms produced by the wind action.

asrom Qeuamsuiearme Comeammib HlogsCsrhmmisamer LD @f s (heny
U S.

Explain the general circulation of atmosphere.
auaflnenT_cgdler Glumg spnHlulleaner allers@s.
Describe the pacific ocean's currents in detail.

L&98 sLeler BCymLsdenar allfleurs eflard@s.
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